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General Instructions :

(1)  The question paper comprises two Sections, A and B. You are to attempt both the sections.

(it) All questions are compulsory.

(iit) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted separately.

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be answered
in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be answered
in about 30 words each.

(vit) Question numbers 7 to 18 Section A are three-marks questions. These are to be answered
in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on practical
skills. Each question is a one-mark question. You are to select one most appropriate
response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on practical skills.
These are to be answered in brief.
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HOT - A
SECTION - A

1. 39 UowmiEd %1 W IR v fafau fus w10 ¥ 4 FeH wan) e ¥ 1

Write the name and structure of an alcohol with four carbon atoms in its
molecule.

2. I 9l &I T HEd 8, TR Tk & Afe H AT & YhR o ook Y ed g1 1
T YR & Sidl 1 Teh 3Gl Gl |

What are those organisms called which bear both the sex organs in the same
individiual. Give one example of such organism.

3. TUN % $© G wiad el Il AfFad F @A-Hed 9 TR0 W g a1
forelt Teh T T ST@ HITIT |

Write one negative effect, on the environment, of affluent life style of few
persons of a society.

4. ‘ToE Tcia gdw gR 99 Tt fama & gfafams &1 smeew -3 ®1'7 39 weH 2
R gqugfafers & fawa § 9 IR SHHIRE S gl a1E

“The magnification produced by a spherical mirror is —3”. List four

informations you obtain from this statement about the mirror/image.

5. ‘a7 Sa fafagm & fafire @ €17 39 ®eA &1 gfe s 2

Forests are “biodiversity hot spots”. Justify this statement.

6. STl HUSY FT §? IE dohrlch [T YRR ST o T § HEEF © ? 2

What is water harvesting ? How can this technique help in the conservation
of water ?
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fopelt TEell, foeH o1 31 C,H,0 &1 &5 wEA-AIR X' 91 8, § Hifeam
¥Tq 1 kel IR 9M W g Jeeere & g & 14, v R ket 21
WA & @ W Vel diel oM W 98 719 ‘9’ e @ s 10X AR Y
! TEEIAT | BF arelt Tfufghar 1 qaEfae TR fafew) S &A™ X &
Ty Wig GeRIReh Tr o T19 TH hd &, 1 Sl 391G o1 &, SHeh! A9 3R
e fafau |

On dropping a small piece of sodium in a test tube containing carbon compound

X’ with molecular formula C,H;O, a brisk effervescence is observed and a gas
Y’ 1s produced. On bringing a burning splinter at the mouth of the test tube
the gas evolved burns with a pop sound. Identify X’ and Y’. Also write the
chemical equation for the reaction. Write the name and structure of the
product formed, when you heat X’ with excess conc. sulphuric acid.

NN

frelt Tfeeere iR foel I AT 1 ¥9H A7 T, S C,H,0 g1 fFrefid
fordl ST Fehal §1 S9! H=AC R M fafaw) fagm =8 v § 39 41 &
T o WY T SeeTd DI |

An aldehyde as well as a ketone can be represented by the same molecular

formula, say C3HgO. Write their structures and name them. State the relation
between the two in the language of science.

HE qcd X’ SR Tad RN ok qR Tad AR 16 9 9 # feoq 71
(2) X H GAShAl SOaEHl i YA A7 ST GASThal (ETRA HItaT |
(b) X I TESSH & WY AR R o AR 1 9] YA fafay qon s&ht

s -foag, | Eifau |

(¢ q& X H W fafgu o Ieer@ HieT foh 9% @ o1 § STeren 31eTg § |
An element ‘X’ belongs to 3" period and group 16 of the Modern Periodic
Table.

(a) Determine the number of valence electrons and the valency of X’.

(b) Molecular formula of the compound when X’ reacts with hydrogen and
write its electron dot structure.

(¢0 Name the element X’ and state whether it is metallic or non-metallic.
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T qd@l X, Y $R 7 i ] e % 7, 8 3R 9 T

(a) TMH 3TEd IR H ekt Ferfaal (THE 9@ iR oTed 4e&) 1 Seaid
ISy |

(b) T Tl I Ah! A AT & Sed A H Fafrd it |

© X R Z® Fanm § 99 A w1 g farta |
Three elements X', 'Y’ and “Z’ have atomic numbers 7, 8 and 9 respectively.

(a) State their positions (Group number and period number both) in the
Modern Periodic Table.

(b) Arrange these elements in the decreasing order of their atomic radii.

(¢)  Write the formula of the compound formed when ‘X’ combines with Z’.

Sitell & S o HWed H ST M o U8 qFeRyed’’ (TASA) Shi ST
HIT| F&9 | U HIWC T TEST 19 98 HIw Sl § gIegdad’ &l

o o N A
Alndl [end HonlX dH4=l eldl %7

Explain the term “Regeneration” as used in relation to reproduction of
organisms. Describe briefly how regeneration is carried out in multicellular
organisms like Hydra.

~

TSI o 59 o ded § fo@ved 3R @ued & o9 Ti@ T & 3ceid@ Hifeu |
Y& 1 Teh-Tdh 30 off Sifeig |

In the context of reproduction of species state the main difference between
fission and fragmentation. Also give one example of each.

5 P.T.O.
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(a)

(b)

()

(b)

TR ST R Scqel Hata | fafvear gfteri=r €9 & < ®Ro0 &l =

() 3@ H Afha 9 A’ &1 Im faf@aw)

() ‘A’ 9T B q% fRY YR Uged 2

(i) T ‘C’ 1 Hed faf@u |

(iv) ‘D’ g1 3ifehd w1 =1 f9=9 & Iv=Td 0 o § 2

List two reasons for the appearance of variations among the progeny
formed by sexual reproduction.

(1) Name the part marked ‘A’ in the diagram.

(1) How does ‘A’ reaches part ‘B’ ?

(1) State the importance of the part ‘C’.

(iv) What happens to the part marked ‘D’ after fertilisation is over ?



14. ‘IR % < - famm’ iR ‘e’ WER §2 ¥’ W wed & ge 3
HITSTT |

“Two areas of study namely ‘evolution’ and ‘classification’ are interlinked”.
Justify this statement.

15. S0 1 FeEal § A U MT sHem i e ST : 3
“HIE AT ST A BT §, U oA el &l urarl’’

With the help of an example justify the following statement :

“A trait may be inherited, but may not be expressed”.

16. fodl oiq g o= Tt foama & gfafera @1 smaes —1 81 3fe fovma =t yfafersr 3
9 g 60 cm B, A1 99 H HkY g R 2?2 AR foam 1 W H SR 20 cm
TR Y fean S, @ gfdfera el smm? 399 S &1 SR Slfee 3R

gl gfte & foaru fomtor s@ ot wifaw)

The image of an object formed by a lens is of magnification — 1. If the distance

between the object and its image is 60 cm, what is the focal length of the
lens ? If the object is moved 20 cm towards the lens, where would the image
be formed ? State reason and also draw a ray diagram in support of your
answer.

17. I8 N & fau fedt fwamram™ &1 9o wifae f& f9 7R & fsm go 38

forarfed vard ehtel bl =1 Foigd fUsH g QAAiSId hileh JH: Yoid Tehmel JTd

fhal ST Wehal &1 YA U o TIFZH & IS &l T & fow foior omw
off Eifaw|

Describe an activity to show that the colours of white light splitted by a glass
prism can be recombined to get white light by another identical glass prism.

Also draw ray diagram to show the recombination of the spectrum of white
light.
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Aa & fshamehamdl 3 Sfid AUed & Sid 41 ! U Te ¥ FHTfad foan g1 Jma
SR Uhfd & STHIHG e 3 S9-T08d o o9 Ud od Aaddl & Haguid
T &l - R e 1 wHa g} @@ giva fdee aRkfefaEt 3 9
had IHH! AT IW STl hl AASRRT §, dfosh Yol & THE wifal ol
AAHRT T 3TUHT Tk TEURST S AT% Thd & ‘Toh! oo’ hT Wiehd To=T ©
A & Bl § TARY % Gfa e 3w Y T §, a7 39 gAN B of e
W B 98 TH-US™ & GHER o T=I0 &l Uk & faw ff :3R &
@2l

(a) BY 3TYY THIERUT kT GI&IU KT Fi AETF § 2

(b) =T IRl & FRUE R & fau g8 AR et Fe-ufedl &1 78
fafaw |

(c) 39k 3T WISl g YSi¥id &1 eIl i el By S AU foame™ &
‘o T’ T WiHT WS T

The activities of man had adverse effects on all forms of living organisms in
the biosphere. Unlimited exploitation of nature by man disturbed the delicate
ecological balance between the living and non-living components of the
biosphere. The unfavourable conditions created by man himself threatened
the survival not only of himself but also of the entire living organisms on the
mother earth. One of your classmates is an active member of ‘Eco club’ of your
school which is creating environmental awareness amongst the school students,
spreading the same in the society and also working hard for preventing
environmental degradation of the surroundings.

(a) Why is it necessary to conserve our environment ?

(b) State the importance of green and blue dust-bins in the safe disposal of
the household waste.

(¢) List two values exhibited by your classmate who is an active member of
Eco-club of your school.



19. (2) Tehd " & Wehd < &1 R fafa) 5
() et TIERt ofF ®t BIHT T 30 cm B 1 39 1 o YHIVh s o TRl

o o

5 cm SR % fom &1 faat O W T W, fo sge yfafas o9 9
15 cm 0 W a1 7 gfdafe w1 @S ot 7 HifSw)
(© W fegfa ¥ gfafors s9m1 <9 & faq feor e difeu |

(a) Define focal length of a spherical lens.

(b) A divergent lens has a focal length of 30 cm. At what distance should an
object of height 5 cm from the optical centre of the lens be placed so that

its image is formed 15 cm away from the lens ? Find the size of the image
also.

(¢) Draw a ray diagram to show the formation of image in the above situation.

20. 12 cm ®IRY SO & Fedal Sdur g Tl forear <1 ten yfafers oM & faw a1 5

T R

() T e fam w g8 @1 F aiReR 9 = 2

() o4 aren gfafora ges # foma @ Sier g siyer 981?36 YR |
gfdfera 1 <o & fore feeo s Eifaw)

(i) =9 fom o1 gfafom el am, afg 38 Tdw & 9 24 em O R @ e
TM? 3 SW ! e & fou 39 fegfa & foag o feo s difem

ST fRYor oT@l B ¢@, T Wiy iR ashdl s ot feafaei @ off geifsw

It is desired to obtain an erect image of an object, using concave mirror of focal
length of 12 cm.

(1) What should be the range of distance of an object placed in front of the

mirror ?
(1) Will the image be smaller or larger than the object. Draw ray diagram
to show the formation of image in this case.

(111) Where will the image of this object be, if it is placed 24 c¢m in front of the
mirror ? Draw ray diagram for this situation also to justify your answer.

Show the positions of pole, principal focus and the centre of curvature in the
above ray diagrams.
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SIHUEA YA F1 § 7 T URESA T SUAN Hhich Ad & T Yrhids
HEAISAT i AT hHINT :

(a) N w1 feAfeqm

(b) fm PEiea iR foafEa g

A ST o TR & fau Mg Eifeu |

What is atmospheric refraction ? Use this phenomenon to explain the following
natural events.

(a) Twinkling of stars

(b) Advanced sun-rise and delayed sun-set.

Draw diagrams to illustrate your answers.

I FT R 7 HHR! GLEAT T IUH HifT | et e /ST % Y0 H 3Hh

HTIT T Sedd HITT |
What is placenta ? Describe its structure. State its functions in case of a
pregnant human female.

famm =t gty fafeu | 98 foe gR 8 €2 9viF wifae f& Ssiaws fog
TR fam & gmed § qHor yRE F © 2

Define evolution. How does it occur ? Describe how fossils provide us evidences
in support of evolution.

13 e AR P’ A Fig H,S0, % & T fohy SIH 0 &8 o= Aifireh
‘Q I & 1 TTohal ScUve W1 SURYA H TR § Fhald Tk his 9q9
Aifieh ‘R’ SAT@1 €1 ‘R’ 1 T Y, T&T oH W, hied SEAFIEE & &l 0] a1
S o dF 3T 94T 81 P, Q AR R &I YgAIHC AR Wiwfaq stfafswansti &

THaHS THiER fafan |

A carbon compound ‘P’ on heating with excess conc. H,SO, forms another
carbon compound ‘Q’ which on addition of hydrogen in the presence of nickel
catalyst forms a saturated carbon compound ‘R’. One molecule of ‘R’ on
combustion forms two molecules of carbon dioxide and three molecules of water.
Identify P, Q and R and write chemical equations for the reactions involved.

10
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SECTION - B

25. = feu U oM@ A HEl 3ifeRd I wE 9 B2 1

(a) /i 3R se b) <A 3R D
© i, ze 3N /D d sr, ZA AR /D

In the following ray diagram the correctly marked angle are :

(a) Ziand ze (b) <A and £D
(c0 A, Zeand «D d zr, ZA and £D

26. HM ST AT ST TARTAT hl B o Y o T Wt HiHerdl ol sarel 1 1
gfafers SUa 9 5 9 W RihEd X foran g1 o Afe stves fners weea
AR T4 MR 9 W A I i IR ROl 61 3 9 R R
A T YAE <, A SATH I TULT DI ST © fh 3T -

(a) 9 P US| IS FT SR FHIC |
(b) TG I A W U Y T ELHIT |
¢ 9 & orer W gd at foen # W
) oG AR 9 AN H gA DI SR TR |
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Suppose you have focused on a screen the image of candle flame placed at the
farthest end of the laboratory table using a convex lens. If your teacher
suggests you to focus the parallel rays of the sun, reaching your laboratory
table, on the same screen, what you are expected to do is to move the :

(a) lens slightly towards the screen
(b) lens slightly away from the screen
(¢) lens slightly towards the sun

(d) lens and screen both towards the sun

QU T 31adal YU i Gk ®ikhd T Jd FH & foaw 319 gdor g foRdt
Ty foe o1 gfiafors fret oq W wrewfiad o3d 81 98 W U gidafers for
HI I B 9T

(a) U¥E gfEfda iR Sier 8 |

(b) 3T AR BT BT B
¢ e 3R Bler g B

) e e ercafas Sl e B

To determine the approximate value of the focal length of a given concave
mirror, you focus the image of a distant object formed by the mirror on a
screen. The image obtained on the screen, as compared to the object is
always :

(a) Laterally inverted and diminished
(b) Inverted and diminished
() Erect and diminished

(d) Erect and highly diminished

12



28. Y STU FAMTIMCN § fafye eTaas il (i) & fa ®id & wid § oA a1
THIT fRT0 1 7Y STRAEd XA T, U1 TAd TR0l B qEaedl A9add vl
(~ 1) 3 a7 (Le) WY OO0 €1 379 YaIUN & SR 9T Tet frend g
g T
() £i98 T £r ¥, T Le & AT SR ©
b) ABRT £r W, WA Le T T W T
© ZiFST LeH, T Lr h T TR ©

d) ziBRIT Le W, W £r F T IR
In your laboratory you trace the path of light rays through a glass slab for

different values of angle of incidence (1) and in each case measure the values
of the corresponding angle of refraction (£ r) and angle of emergence (£ e).
On the basis of your observations your correct conclusion 1is :

(a) Ziis more than Zr, but nearly equal to Ze

(b) ziisless than Zr, but nearly equal to Ze

() Ziis more than Ze, but nearly equal to £r

(d) zisless than e, but nearly equal to /r

29. IS foamed & UH-TE™ H WAM & faU Aavas ®eR 9d SUaed TRl 51 1
e foamer™ § Iuctsy deul & J1< fu wqgl § 9 9% T 9qg g e
Ud TS hl STA oIl | EieM W, 98 39 HOR Sfd o < ¢
(a) WIfeay FARES, HicTaH FARES
(b) T FREs, Gifedd FREs
(© dHifeqq sREs, TP TINES
@) FHferan FrEs, TRrEY saREs

In the neighbourhood of your school, hard water required for an experiment

is not available. Select from the following groups of salts available in your
school, a group each member of which, if dissolved in distilled water, will make
it hard :

(a) Sodium chloride, calcium chloride

(b) Potassium chloride, sodium chloride

(¢) Sodium chloride, magnesium chloride

(d) Calcium chloride, magnesium chloride

31/2 13 P.T.O.
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s S ATk Afafsran & Afafsran fagm &t th 98 9ga ol faeng o=
3N iR ot fofenq 09 W S/ddal @1 9% I8 Y&T0 i © o

(@) et forens oo § i 9Reds T2 2 SR o ferend o3 wihe &1 S 2
b) e foeag o3 § oE ufteadq 98 2 IR Tien foens 99 e 2 S ©)
© et foremg o3 o =1 9Reda & 2 3R oe faeud 93 e & S § )
() <Fl & faeag = & T § wE 9fedq T8 e

A student puts a drop of reaction mixture of a saponification reaction first an

a blue litmus paper and then on a red litmus paper. He may observe that :

(@) There is no change in the blue litmus paper and the red litmus paper
turns white.

(b) There is no change in the red litmus paper and the blue litmus paper
turns red.

(¢ There is no change in the blue litmus paper and the red litmus paper
turns blue.

(d) No change in colour is observed in both the litmus papers.

TN § e 9 & oy g6 #is 7o oiR 5 &R =1 | ¥9H o1 & fau
I SR R &1 = o T W HAS g ST w2

(1) WU F qd AR FHfeway TESlHES
(b) TARUM &1 dd 3R TfeTH TSRS
© TUES F a1 AR Gifeay gRSEe

d) TG w1 9 AR FHfeqam eSS

For preparing soap in the laboratory we require an oil and a base. Which of
the following combinations of an oil and a base would be best suited for the
preparation of soap ?

(a) Castor oil and calcium hydroxide
(b) Turpentine oil and sodium hydroxide
(¢) Castor o1l and sodium hydroxide

(d) Mustard oil and calcium hydroxide

14



32, A aud e <t Tl gfssrl § 37 <1 wiesdl & 9qg ol g1 & U war S

et HET oSt €, @ 31 3 9§ fRd A 2

(a) TSR AR T (b) 3T AR THTH<T

(© & AR ZHE @ faudt siR et

If you are asked to select a group of two vegetables, out of the following, having
homologous structures which one would you select ?

(a) Carrot and radish (b) Potato and sweet potato

() Potato and tomato (d) Lady finger and potato

33. JANEIC H HeX & oS o Y0 1 Y&101 hid 999 fordlt B 9 = fou o qun
ol o fafse 9t i A e o § G oAR |

SfISITe)Ul, 3T=d:hold, qoligy, Ty, SSUS gR, qs |

39 Y 1 T HH h IvE Rerw qeed | Ie fewut &6, TR 3H 9 dhew
T 9 & w9 T SWe g W 9 dH wel 9 sifen

(a) STSITERT, JeAigR, o (b) Ao, AR, SISV §R

(© SS9, Fig, Sffsirero d) FAIFR, S, TihT

A student while observing an embryo of a pea seed in the laboratory listed
various parts of the embryo as given below :

Testa, Tegmen, Radicle, Plumule, Micropyle, Cotyledon.

On examining the list the teacher remarked that only three parts are correct.
Select three correct parts from the above list :

(a) Testa, Radicle, Cotyledon (b) Tegmen, Radicle, Micropyle

(¢) Cotyledon, Plumule, Testa (d) Radicle, Cotyledon, Plumule

31/2 15 P.T.O.
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2.5 cm S9TE T B fE 10 cm WHE T & FFH 0@ o9 & THH F< 0’
Y 15 cm U W feo@ B1 o ot it &t feafa &R west 9@ & & fag
fortur s EifaT | 30 @ | YR s ‘07, T&I Wihd F a1 gfafas st

ST SAfed ifT |

An object of height 2.5 cm is placed at a distance of 15 cm from the optical
centre ‘O’ of a convex lens of focal length 10 cm. Draw a ray diagram to find
the position and size of the image formed. Mark optical centre ‘O’, principal
focus F and height of the image on the diagram.

%Iz B Tk I HIfeqq BEESH e Juf Tk § fau MU udHiges 3
¥ foama 1 3 @ gea Yeoi &1 gt sy, R 38 was § g et
stfufsran o fawg # ot Aie o ¥ o =nfew) M el wamfre stfafewan

o TEESR THR 9 fafgn |

A student adds a spoon full of powdered sodium hydrogen carbonate to a flask
containing ethanoic acid. List two main observations, he must note in his note
book, about the reaction that takes place. Also write chemical equation for
the reaction.

FTE B I H B 9Tl AR S o fafys =ol 1 shHaR 90 el TRl
B 1 T&I01 X @ &1 39 Ufehan o1 9 faf@u) St 39 9% e 7 g,
34 Sfed %9 °, 3@ Eiww <9 |

A student is observing a permanent slide showing sequentially the different
stages of asexual reproduction taking place in yeast. Name this process and
draw diagrams, of what he observes, in a proper sequence.
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